$$\lim_{h \to \infty} \left| \frac{\chi_n}{x_n} \right| \leq K$$

We write $\chi_n \equiv O(\alpha_n)$ if for each $\varepsilon > 0$ there exists an no such that



Rink: could also let E = 1/n and then have statements regarding cognerice belonces as $E \rightarrow O$. (ex) Vorify that $\sin x = O(x)$ as $x \rightarrow O^{t}$ The statement f(E) = G(1) means that f is bounded in a neighborhood of $E \sim O$.

 $\lim_{\varepsilon \to 0} \frac{\sinh \varepsilon}{\varepsilon} = \lim_{\varepsilon \to 0} \frac{\cos \varepsilon}{1} = 1$ by L'Hopital's Rule Could have also used the near value theorem on the derivative Sike-siho = cosa < 1, for some a. 6-3 Also could have use Taylor series: recall that Sine $= \varepsilon - \frac{1}{3!} \varepsilon^3 + \frac{1}{5!} \varepsilon^5 - \dots$ dride both sides by E and take ex.) Verify that E²lue = 6(E) as E= 0+ The statement f(E) = G(1)" neans that

PERTURBATION METHODS Thre are many methods. Here we pick two of the basic ones: REGULAR & SINGULAR Methods.

Rink: Host problems donst have an analytic solution. You are left with (Computational approximations (local perturbative approaches (Approximation)

PERTURBATION APPROACHES: Some challenges with these approaches are:

1 Often not possible to quantify to what extent the approximative reflects the behavior of the true solution. However, in some cases, the perturbative

approach, which is highly local, can capture He dynamics of the system globelly. (2) It might lead to generalizations about the twe system that are significantly different from two dynamics. <u>Kule</u>: in summary, exercise caution when applying the methodology. Regular Perturbation Methods For specificity, consider the IVP) dy = f(y,t; E), t>0 (y(t=0)=yx yell", fell", ysell" E<<1 is a parameter that is cetter

explicit in the IVP, or is introduced.
Public: We will explore whet he preve to
$$y(t)$$

for $\xi < c1$, but could also use $S = \frac{1}{\xi}$
and look at $y(t)$ when $S \to \infty$.
Bulk: We are going to assume in what follows
that $y = O(1)$ $\frac{44}{54} = O(1)$
 $y_A = O(1)$
WLOG- consider the scalar case:
 $\int \frac{dy}{dt} = f(y_1 t), t > O$ (46)
 $\int \frac{dy}{dt} = y_A$
Assume that
 $y(t) = y_0 + \xi y_1 + \xi^2 y_2 + \cdots$ (†)
Call $y_0(t)$ the leading order of $y(t)$

Replace (#) into (*)
Rule:
$$\varepsilon$$
 is not a precise number, herely a costant <<1
 $\frac{d}{dt}(y_{0}+\varepsilon y_{1}+\varepsilon^{2}y_{2}...)=f(y_{0}+\varepsilon y_{1}+\varepsilon^{2}y_{2}...,t)$ (#)
Rule: the idea is that $y_{1},y_{2}...$ are "correctives" to
the leading order term yo. Note $y_{1}=G(1)$
Assume that $\frac{2}{dy}f$ exist, so the right hered
side of (#) can be written es a series
about y_{2} . So the right hered side is
 $f(y_{0}+\varepsilon y_{1}+\varepsilon^{2}y_{2}...,t)=f(y_{0},t)$
 $+\varepsilon \frac{2}{dy}|_{y=y_{0}}$

The left hand side, on the other hand, is

 ε' : $\frac{dy_1}{dt} = \frac{\partial f}{\partial y_1} \frac{y_1}{y_2 y_0}$

 $\begin{aligned} \mathbf{e}^{\mathbf{1}}: & dy_{2} = 1 \frac{\partial^{2} f}{\partial y_{2}} \frac{y_{2}}{y_{7}} \\ dt & 2 \frac{\partial y_{2}}{\partial y_{7}} \frac{y_{7}}{y_{7}} \\ et \\ \end{array}$

Next, solve the e° equative to obtain yo (you have to be able to solve this equative. IP not, the wellood fails. Next, solve the e'equative to obtain y, (and so on ...) y(t) ~ yot Ey, ..., truncated is the approximete solution to (PS)

It revens volid, so long as E <= 1 ex) Hotion of an object in a nonlinor resistive medium. A body of mass m, is given an initial velocity Vo, and moves in a medium that offers a resistive force of magnitude av-bv? Here, V=V(t) is the velocity of body, the is denoted by t and a and bere positive constants. $\int m \frac{dv}{dt} = -av + bv^2$ $\gamma = V_{D}$ The velocity scale is Vo and for directionless time T = t

$$\frac{d}{d\tau} = \frac{d}{d\tau} \frac{d^{\dagger}t}{d\tau} = \frac{m}{a} \frac{d}{d\tau}$$

$$(e^{\dagger} \quad y = \frac{\sqrt{b}}{b}$$

$$(f^{\star}) \qquad \left(\frac{dy}{d\tau} = -\frac{y}{2} + \frac{\varepsilon}{b}y^{2} \quad \tau > 0 \right)$$

$$(f^{\star}) \qquad \left(\frac{y}{b} \right) = 1 \qquad \text{where} \quad \varepsilon = \frac{b}{a} \quad \langle \varepsilon | \\ by \text{ Resurption} \quad by \text{ Resurption}$$

here n = 2

(A)
$$W = Y^{-1}$$

$$\frac{dW}{d\tau} = \frac{d}{d\tau} (Y^{-1}(\tau)) = -Y^{-2} \frac{dy}{d\tau}$$
Substitute (a) & (b) into (A)

$$-\frac{1}{y^{-2}} \frac{dW}{d\tau} = -W^{-1} + \varepsilon W^{-2}$$

$$\frac{dW}{d\tau} = -Y^{-2} (-W^{-1} + \varepsilon W^{-2}) = W - \varepsilon$$

$$\frac{dW}{d\tau} = W - \varepsilon$$

<u>Ruch</u>: His is a linear 1st order ODE $\frac{dW}{dt} - W = -E$ Use an integrating factor $J = e^{-t}$ $e^{-t} \frac{dw}{dt} - e^{-t} W = -\epsilon e^{-t}$ $\frac{d}{dt} (e^{-t} W) = -\epsilon e^{-t}$

$$We^{-r} = -\varepsilon \int_{0}^{r} e^{-s} ds + c$$

$$W = -\varepsilon e^{\tau} \int_{0}^{r} e^{-s} ds + e^{\tau} c$$

$$He call Heat \quad y(0) = 1 \Rightarrow W(0) = 1$$

$$\int_{0}^{r} \frac{1}{2} = W = -e^{\tau} + 1 + ce^{\tau} \text{ or }$$

$$\int_{0}^{r} \frac{1}{2} = W = -e^{\tau} + 1 + ce^{\tau} \text{ or }$$

$$\int_{0}^{r} \frac{1}{2} = \frac{e^{-\tau}}{1 + \varepsilon(e^{-\tau} - 1)}$$

$$We're \quad going to use perforbetive hetlied and see how the perforbetive solution compares to yescert:$$

$$Ruch: (ach at (As) = \varepsilon + \varepsilon = 0$$
:

 $(\cancel{A}) \begin{cases} dy = -y + \varepsilon y^{2} = -y \\ d\varepsilon = 1 \end{cases}$ That has the solution $\tilde{y}(\tau) = e^{-\tau}$ (\$) of $d\tilde{y} = -\tilde{y} \quad \tilde{y}(0) = 1$ Should be in some sense an approximation to Yexact (T) Congere (\$) to yexact when E=0 and we which this. Also, take yexcel and use a Taylor series approximetrin (E<c)): $y_{\text{exact}} = e^{-\tau} + \varepsilon (e^{-\tau} - e^{-2\tau}) + \varepsilon^2 (e^{-\tau} - 2e^{-2\tau}) + \cdots$ we see that to leading order yexact = g \therefore Yexact = $\tilde{y} + G(\varepsilon)$

let's obtain the approximate solution bia
togeter perherbation series:
let
$$y(z) = y_0(z) + \varepsilon y_1(z) + \varepsilon^2 y_2(z) - \cdots$$
 (#)
the substitute (#) into (#), i.e. into:
 $\begin{cases} dy = -y + \varepsilon y^2 \\ dz \\ (y(0) =) \end{cases}$
and the organize by powers of ε :
 $\frac{d}{dt}(y_0 + \varepsilon y_1 + \varepsilon^2 y_2 - \cdots) + \varepsilon(y_0 + \varepsilon y_1 + \varepsilon^2 y_2 - \cdots) + \varepsilon(y_0 + \varepsilon y_1 + \varepsilon^2 y_2 - \cdots) + \varepsilon(y_0 + \varepsilon y_1 + \varepsilon^2 y_2 + \cdots)^2$
(y_0 + \varepsilon y_1 + \varepsilon^2 y_2 - \cdots) (0) = $|\varepsilon^0 + 0\varepsilon^1 + 0\varepsilon^2 + \cdots$
 $Order in powers of ε :
 $\varepsilon^* = \begin{cases} \frac{d}{dt}(y_0 = -y_0) \\ y_0(y) = 1 \end{cases}$ = $y_0 = \varepsilon^{-T}$$

$$E^{1:} \begin{cases} \frac{1}{\sqrt{c}} (y_{1} = -y_{1} + y_{0}^{2}) = -y_{1} + e^{-2t} \\ (y_{1}(0) = 0) \end{cases}$$
or
$$\begin{cases} \frac{1}{\sqrt{c}} (y_{1} + y_{1} = e^{-2t}) \\ (y_{1}(0) = 0) \end{cases}$$

$$E^{2:} (\frac{1}{\sqrt{c}} (y_{1} = -y_{2} + 2y_{0}y_{1}) = -y_{2} + 2e^{-t}(e^{-t} - e^{-2t}) \\ (y_{1}(0) = 0) \end{cases}$$
or
$$\begin{cases} \frac{1}{\sqrt{c}} (y_{2} + y_{2} = 2(e^{-2t} - e^{-3t})) \\ (y_{2}(0) = 0) \end{cases}$$
or
$$\begin{cases} \frac{1}{\sqrt{c}} (y_{2} + y_{2} = 2(e^{-2t} - e^{-3t})) \\ (y_{2}(0) = 0) \end{cases}$$

$$\begin{cases} y_{1}(x) = e^{-t} - 2e^{-t} + e^{-3t} \\ (y_{2}(x) = e^{-t} - 2e^{-t} + e^{-3t}) \\ (y_{2}(x) = e^{-t} + e^{-t} + e^{-2t}) \end{cases}$$

$$\begin{cases} y_{1}(x) = y_{0} + e^{-t} + e^{-2t} \\ (y_{1} + e^{-t} - e^{-2t}) + e^{-t} (e^{-t} - 2e^{-2t} + e^{-3t}) \\ (y_{2}(x) = e^{-t} + e^{-t} + e^{-2t}) \end{cases}$$

$$\begin{aligned} y_{p}(\tau), to become order is the same as you for $\varepsilon = 0. \\ (impose \quad y_{exact} - y_{p} \\ y_{exact} &= e^{-\tau} + \varepsilon (e^{-\tau} - e^{-7\tau}) + \varepsilon^{2} (e^{-\tau} - 2e^{-7\tau}) + \cdots \\ y_{p} &= e^{-\tau} + \varepsilon (e^{-\tau} - e^{-7\tau}) + \varepsilon^{2} (e^{-\tau} - 2e^{-7\tau}) + \cdots \\ y_{p} &= e^{-\tau} + \varepsilon (e^{-\tau} - e^{-7\tau}) + \varepsilon^{2} (e^{-\tau} - 2e^{-7\tau} + e^{-3\tau}) \\ \vdots & y_{exact} - y_{p} &= O(\varepsilon^{3}) \end{aligned}$$$

What do we were by satisfactory"?
The ideal notion of success would be
Inter (Yexach(t) - 2 eigi (= 0)
E=0
N>00
for orbitrary t. So satisfactory would be,
for exbitrary t. So satisfactory would be,
for example that yo a yexact for one
range of E, with errors
$$G(E)$$
, E<1.
This is called asymptotic covergence.
Redistically, you at least expect qualitative
agreement and that the more terms you
add to the approximation the higher the
qualitative fieldity.

NONLINEAR OSCILLATOR

We will see that regular participation hallods will yield the wrong result. We'll them introduce a different participation but had that gives acceptable results, the Paincare' Instedt Hethod

The livear Oscilletor assures Hooke's Law is valid: M d^Zy = -ley & t is time dz^z = -ley & t is time y is the amplitude or supplacement le is the "spring constant", mis the mass of the oscilletor



displacement dependence in creating a force. A common model: Fspring = ky + ay³ a<< k Consider ODE $M \frac{d^2y}{d^2z} = -ky - ay^3$ Z>0 J.C. y(0) = A dy(0) = 0 NONDIMENSIONALIZATION: $[A] = L \quad [m] = M \quad [L] = \frac{M}{T^2}$ $[\tau] = T$ $[\alpha] = \prod_{j=\tau^2}^{M}$ $\int \omega_0^2 = \frac{k}{m}$ is the natural frequency $\left[\left[\omega_{s} \right] : \frac{\gamma}{T} \right]$

$$u = \frac{u}{A} \qquad f = \frac{T}{\sqrt{W/L}} = \omega_0 T$$

$$\frac{d}{d\tau} = \frac{d}{dt} \frac{dt}{d\tau} = \omega_0 \frac{d}{dt}$$

$$\frac{d^2}{d\tau} = \omega_0^2 \frac{d^2}{d\tau}$$

$$\int \frac{wA}{d\tau} \frac{d^2}{d\tau} u = -kAu - aA^3u^3$$

$$Au(0) = A \qquad \frac{A}{\omega_0} \frac{d}{dt} u(0) = 0$$
Some algebre:
$$\int \frac{d^2u}{d\tau^2} + u + E u^3 = 0 \qquad (5DE)$$

$$(u(0) = 1 \qquad u'(0) = 0 \qquad (T.C.)$$

$$E = \frac{aA^2}{k} (<<] by essurption)$$

The usual regular perturbation, we knowd:

$$u(t) = u_{0}(t) + \varepsilon(u_{1}(t) + \varepsilon^{2}u_{2}(t)) \dots$$
Then $(\frac{1}{2})$:
 $(00t) \frac{d^{2}}{dt^{2}} (u_{n} + \varepsilon u_{1} + \varepsilon^{2}u_{2} \dots) + (u_{0} + \varepsilon u_{1} + \varepsilon^{2}u_{2} + \dots)^{3} = 0$
 $(10t) (u_{0} + \varepsilon u_{1} \dots) (0) = 1 \qquad \frac{d}{dt} (u_{0} + \varepsilon u_{1} + \dots) = 0$
 $(10t) (u_{0} + \varepsilon u_{1} \dots) (0) = 1 \qquad \frac{d}{dt} (u_{0} + \varepsilon u_{1} + \dots) = 0$
 $(10t) (u_{0} + \varepsilon u_{1} \dots) (0) = 1 \qquad \frac{d}{dt} (u_{0} + \varepsilon u_{1} + \dots) = 0$
 $(10t) (u_{0} + \varepsilon u_{1} \dots) (0) = 1 \qquad \frac{d}{dt} (u_{0} + \varepsilon u_{1} + \dots) = 0$
 $(10t) (u_{0} + \varepsilon u_{1} \dots) (0) = 1 \qquad \frac{d}{dt} (u_{0} + \varepsilon u_{1} + \dots) = 0$
 $(10t) (u_{0} + \varepsilon u_{1} \dots) (0) = 1 \qquad \frac{d}{dt} (u_{0} + \varepsilon u_{1} + \dots) = 0$
 $(10t) (u_{0} + \varepsilon u_{1} + u_{0} = 0)$
 $(10t) (u_{0} - u_{1}) (0) = 0$
 $(10t) (u_{0}) = u_{1}^{2} (0) = 0$
 $(10t) (u_{0}) = u_{1}^{2} (0) = 0$
 $(10t) (u_{0}) = u_{1}^{2} (0) = 0$

etc. The Esolution le (t) : cost $u_{1}^{"} + u_{1} = -\cos^{3}t = -\frac{1}{4}(3\cos t + \cos 3t)$ 4, = 4, + 4, = Gost+ Czsint +4, Use the MUC (method it indetermined wefficients) to find 4. 4 = C cos 3t + Dt cost + Etsint because 4, = (Gst, sint) Substitute 4, into the c'equation, you get $U_1 = C_1 \cos t + C_2 \sin t + \frac{1}{32} \cos 32t - \frac{3}{8} t \sin t$ Apply I.C. to find G&Cr $\therefore U_1 = \frac{1}{37} (\cos 3t - \cos t) - \frac{3}{8} t \sinh t$

To
$$G(e^{z})$$

 $u_{approx} = u_{b} + E(u_{1} + G(e^{z}))$
 $= u_{s}t_{t} + E\left[\frac{1}{32}(u_{s}3t \cdot u_{s}b) - \frac{3}{8}t_{s}iht\right]$
 u_{1}
 $t_{G}(e^{3})$
To leading order we get $u_{b} \cdot ast_{t} \cdot esexpeded,$
 $e good solution. The u_{1} correction, however
grows in bounded u_{1} as $t \to co$, $ase_{t} \cdot e \cdot e_{t}$
Is this sensible?
Let's example (t)
 $i_{t} + u_{t} \in u_{t}^{3} = 0$
 $e_{u,c}$ calculate the every: $u_{t}hep_{1}by_{2}^{1}i_{t}$
 $\frac{1}{2}i_{t}(i_{t} + u_{t} \in u_{t}^{3}) = 0$$

$$d \left(\dot{u}^{2} + \dot{u}^{2} + \frac{e}{2} \dot{u}^{4} \right) = 0$$

Integrale both sides
$$\dot{u}^{2} + \dot{u}^{2} + \frac{e}{2} \dot{u}^{4} = Constant$$

use $u(o) = 1$ $\dot{u}(o) = 0$ at $t = 0$

then at $t = 0$ $1 + \frac{1}{2} e = Constant$

 $d = at t = 0$ $1 + \frac{1}{2} e = Constant$

 $\dot{u}^{2} + \dot{u}^{2} + \frac{1}{2} e \dot{u}^{4} = 1 + \frac{1}{2} e > C$, constant

for all t

 $\dot{u} = \pm \sqrt{1 + \frac{1}{2} e - \dot{u}^{2} - \frac{1}{2} e \dot{u}^{4}}$

where $0 \le \dot{u}^{2} + \frac{1}{2} e \dot{u}^{4} \le 1 + \frac{1}{2} e$

So the solution of $\dot{u} + u + e \dot{u}^{3} = 0$

must be bounded (i.e. the energy at $t = 0$

is the same for all t , and the potential

every 42+2Eh4 is bounded, and so i

Kude: The anclusion is that something is wrong with the regular perturbetive approximation to the solution. Maybe the problem is that we did not take enough terms in our perturbation expansion? (you can see what happens, by computing the e², E³, elc terns). But we can also gress that is order for the 1st correction, the ten proportial to E to remar bounded, that we'd read to require that E~ /2. The only recourse is to say that the regular perturbative solution is Ok Ara limited the spen tETO, T] such that E[2(wi3t-ast)-3Elsint] veneus snell, which regardes that 3 Et < 1 => T~ 8/3E //

Ruch: The Up is called a "secular" form
and there will arise in the application of
begular perturbation sories applied to all
oscillatory problems.
We wound up with a secular form
because of "resonances":
In air series
is the = 0
$$\rightarrow$$
 Ho=Cest
is the = 0 \rightarrow Ho=Cest
is the up octot.
is the up octot.
is the up octot.
is the at all orders is give.

 $\mathcal{J}u_i = f(u_{i-1}...)$ So the Ui-1, Ui-2, etc will have terms in the null space of the operation of: Jui:= U solution . , these will blow up or E. The Poincoré-Linstedt Method Is a modification of the regular perturbation westend that is suitable for oscillatory problems, like the nonlinear ascillator. The idea is to perhab BOTH the amplitude as well as the frequency. $let u(\tau) = u_0(\tau) + \varepsilon u_1(\tau) + \varepsilon^2 u_2(\tau) - \ldots \quad (A)$ Where To Cut

> let Wo wat EW, t E²W2 + B this was equal to 1 in the inter 200

problem.
Substitute (1) E(1) IND IVP (‡)
j.e. [
$$ii + u + E u^3 = 0$$

 $u(0) = 1$ $u'(0) = 0$
yrolds: for $u = u(t)$
 $\int_{t} u^2 \frac{du}{u} + 1u + Eu^3 = 0$ $t > 0$
 $dt^2 - u_{to} u_{out} be u^3_{t, u, u, u} happen
 $u(0) = 1$ $\frac{du}{dt} (0) = 0$
 $\frac{du(2)}{dt} = \frac{d}{dt} \frac{dt}{dt} = \omega \frac{du}{dt} plu.$
 $(\int_{t} u^3 + 2Eu_1 u^3 + \dots) (u^{u_1}_0 + Eu_1^{u_1} + E^2u^{u_1}_{s} \dots)$
($u_{to u, u} = 1$ $(u_{0} + Eu_1 + E^2u_{2} \dots)$
 $+ E(u^3 + 3Eu_0 u_1 + \dots) = 0$
also $u_{s}(0) + Eu_1(0) + \dots = 1$
 $u'_{b}(0) + Eu'_{t}(0) - \dots = 0$$

Order in E: $U_0'' + W_0 U_0 = 0$ $(U_0) = 1$ $U_0'(0) = 1$ E°; $u_1'' + w_0 u_1 = -2w_1 u_0'' - u_0^3 \quad u_1(0) = u_1'(0) = 0$ ٤': etc The solution to E°: Up = COSE To ε' : $u_1'' + \omega_0 u_1 = 2\omega_1 \omega \varepsilon \tau - \omega \varepsilon^3 \tau$ $= (2\omega_1 - \frac{3}{4}) \cos t - \frac{1}{4} \cos 3t$ we set $\omega_1 = \frac{3}{4}$ in order to eliminate the appearance of the secular term in the up solution. 4"+4, =- 1 cos3E with general solution 4(t): (with 62 SINT + 2 Cos3t

Apply I. (. 4, (0) = 4; (0) = 1) $(. u_{1}tz) = \frac{1}{27} (..., 3z - ..., z)$ $\int (4tz) = (\omega ST + \frac{1}{3z} \varepsilon (\omega ST - \omega ST) + G(\varepsilon^{2})$ and T=t+3et+.... Poincare - Linstedt applied to Vander Pol Osillator: x + μwo (x²-1) x+ ω, x=0 x'(0)=0 x(0)=A let z= wt them $\omega^{z} \chi'' + \mu \omega_{o} \omega (\chi^{2} - 1) \chi' + \omega_{o}^{z} \chi = 0$ (\ddagger) ()'==

Where $\omega = \omega_0 + \mu \omega_1 + \mu^2 \omega_2 + \dots$ x(t) = x0+ / x1+ /2 x2+ Substituting into (7) $\left(\omega_{o^{+}}^{*}\mathcal{I}_{\mu}\omega_{\mu}\omega_{\mu}+\mu^{2}(\omega_{\mu}^{*}\mathcal{I}_{\nu}\omega_{\mu}\omega_{\mu})+\cdots\right)\left(\chi_{o^{+}}^{''}\mu\chi_{\mu}^{''}+\cdots\right)$ + $\mu \omega_0 (\omega_0 + \mu \omega_1 + \mu^2 \omega_2 + \dots) [(\chi_0 + \mu \chi_1 + \mu^2 \chi_2 \dots)^2 - 1] (\chi_0 + \mu \chi_1 + \dots)$ + $\omega_0^2 (\chi_0 + \mu \chi_{1} \mu^2 \chi_2 + \cdots) = 0$ And J.C .: $(X_0 + \mu X_1 + \mu^2 X_2 \cdots)(0) = A$ $(x_0 + \mu x_1 + \mu^2 x_2 -)'(v) = 0$ Separate in urders in M: $\mathcal{J}_{\mu}^{o}: \quad \omega_{\mu}^{z}(\mathcal{X}_{0}^{\prime\prime}+\mathcal{X}_{0})=O$ $\chi_0(0) = A \quad \chi'_0(0) = O$ $\Rightarrow X(t) = d cus(t+ B)$

applying I.C.

$$\chi_{\delta}(z) = A \cos z$$

$$\chi_{1}^{\prime\prime\prime} + \chi_{1} = -2 \frac{\omega_{1}}{\omega_{0}} \chi_{0}^{\prime\prime\prime} + (1 - \chi_{0}^{z}) \chi_{0}^{\prime\prime}$$

$$\chi_{1}(0) = \chi_{1}^{\prime\prime}(0) = 0$$
So subshikiting χ_{0} :

$$\chi_{1}^{\prime\prime} + \chi_{1} = 2A \frac{\omega_{1}}{\omega_{0}} \cos z - (1 - h^{2} \cos z) A \sin z$$

$$= 2A \frac{\omega_{1}}{\omega_{0}} \cos z - A (1 - h^{2} + \frac{3}{4}h^{2}) \sin z$$

$$+ \frac{1}{4} h^{3} \sin^{3} z$$

$$\vdots A \omega_{1} = 0 \implies \omega_{1} = 0$$

$$A (1 - \frac{1}{4}h^{2}) = 0 \implies \lambda = 2$$

$$\vdots \chi_{1}^{\prime\prime} + \chi_{1} = \frac{1}{4}h^{3} \sin^{3} z \quad \text{with } h = 2$$

$$\chi_{1}^{\prime\prime} + \chi_{1} = \frac{1}{4}h^{3} \sin^{3} z \quad \text{with } h = 2$$

 $\chi_1 = \Lambda_1 \cos t + D_1 \sin t - t \sin t$

Since
$$\chi'(\omega) = 0 = \Im B_1 = \frac{3}{4}$$

len A_1 is left undetermined
To find A_1 , need to go to hext order.
Rinke: It is tempting to use $\chi_1(\omega) = 0$ to sort
out A_1 . You will find that this leads to
an inconsistency at $G(\mu^2)$.
 M^2 : $\chi_2'' + \chi_2 = \frac{5}{4\omega_0^2} \cos 5t \cdot \frac{3}{2\omega_0^4} \cos 3t$
 $+ 3A_1 \sin 3t$
 $+ (4 \frac{\omega_2}{\omega_0} + \frac{1}{4\omega_0^4}) \cos t + 2A_1 \sin t$
So $\omega_2 = -\frac{1}{16\omega_0}$ and $A_1 = 0$
 $\therefore \chi(\tau) = 2\cos \tau + \frac{3}{4} \mu \sin \tau - \frac{1}{4} \mu \sin 3\tau + G(\mu^2)$
 $\omega = \omega_0 (1 - \frac{1}{16} \frac{\mu^2}{\omega_0^2}) + G(\mu^3)$